
434/ THREADED

ADV1
ROD1 n1

1Ø

TACK WELD
2- n1 2- w9

2'-2

2THREADED

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

ADV1
2'-2"ROD1"

16
F1554-GR.36

ANCHOR_RODS
16 ADV1

- NO PAINT

16 - ANCHOR_RODS - ADV1

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

ADV1

ANCHOR_RODADV1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

06/16/202103/18/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



9'-41516/RD

316/
3 SIDES TYP

B1
W6X9

4

AA

B

B

a9 (B/S)

p50 (B/S)

318/

25
16/

11
1 16/4

9'-91516/

2 - 916/ Ø HOLES
A - A

512/

B1

2- p50

2- a9
FLG.
CUT

FLG.
CUT

11
8/

11
8/

712/

512/

B - B

p50
p50

4 - 1316/ Ø HOLES

316/
316/

3 SIDES
TYP

21
2/

33

21
2/

11316/11316/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B1
9'-9 15/16"W6X9

5
A992

BEAMS
5 B1

- SHOP PRIME

a910 L4X3X1/4A36 0'-4"
p5010 PL3/8"X5 1/2"A36 0'-6"

5 - BEAMS - B1

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B1

BEAMB1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/18/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



B

B

316/
3 SIDES 
TYPDET. 1

316/
3 SIDES 
TYP

B10
W8X18

31
8/

p71 (B/S)

a9 (B/S)

14'-912/

AA

11
16/

p121

p120

5'-7716/RD

3 8/

R 1 1
2/

4

35
8/

15'-9716/

15'-212/61516/

612/

2- a9

A - A

FLG.
CUT

13
8/

5'-3516/RD

4 - 1316/ Ø HOLES

518/

812/
B10

T&B CUT

FLG.
CUT

2- p7125
16/

p120

p121

25
8/

612/

612/

13
8/

5 16/

11
1 2/

12

512/

B - B

p71

316/
316/

3SIDES
 TYP

p71

DETAIL-1

R 1
2/

1
23

4/

R 1 2/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B10
15'-2 1/2"W8X18

1
A992

BEAM
1 B10

- SHOP PRIME

a92 L4X3X1/4A36 0'-4"
p712 PL1/4"X2 1/2"A36 0'-7 1/2"
p1201 PL3/8"X3"A36 1'-1 3/8"
p1211 PL3/8"X3"A36 1'-1 13/16"

4 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

ONE - BEAM - B10

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B10

BEAMB10 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/18/2021MVK NSP



9'-41516/

p70 (B/S)

B

B

p51 (F/S)
p52 (N/S)

316/
3 SIDES TYP

258/

a9 (B/S)
B13
W6X20

AA

C

C
10'-0916/

4

15
16/

318/

9'-91516/

21
1 16/

4

1'-834/RD

13
4/

A - A

512/

3

2- p70

FLG.
CUT

12

11
1 2/

4 - 1316/ Ø HOLES

FLG.
CUT

B13

p52

2- a9
p51

1'-418/RD

912/

218/
25 16/ 512/

13
4/

B - B

316/
316/

3 SIDES

2 - 1316/ Ø HOLES

316/
316/

3 SIDES

2 - 1316/ Ø HOLES
p52 p51

3178/

21
2/

21
2/

316/
316/

3 SIDES
TYP

C - C

p70 p70

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B13
9'-9 15/16"W6X20

1
A992

BEAM
1 B13

- SHOP PRIME

a92 L4X3X1/4A36 0'-4"
p511 PL3/8"X5 1/2"A36 0'-6"
p521 PL3/8"X5 1/2"A36 0'-6 9/16"
p702 PL1/4"X2 7/8"A36 0'-5 1/2"

ONE - BEAM - B13

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B13

BEAMB13 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/18/2021MVK NSP



p20

1116/

21
2/

A

A

2 - 1316/ Ø HOLES

B14
W6X20

DET. 14 - 1316/ Ø HOLES

9'-51116/

9'-638/

3
9'-1716/

3
1'-11116/RD

341316/
31

8/

B14

p20

T&B CUT

T&B CUT
18/

11
1 2/

12

25
8/

27
8/

12

518/

2916/

614/

A - A

21
2/

316/
3 SIDES

p20

4 - 1316/ Ø HOLES

13
4/

5 8/

DETAIL - 1

5 8/

TYP
3716/

R 1
2/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B14
9'-5 11/16"W6X20

1
A992

BEAM
1 B14

- SHOP PRIME

p201 PL3/8"X5 3/4"A36 0'-8"
2 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

ONE - BEAM - B14

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B14

BEAMB14 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



1

3

3114/ 3 2 - 1316/ Ø HOLES 2 - 1316/ Ø HOLES

B15
W6X20 p38 (F/S)

TYP

A

A
5'-8916/RD

1
21

2/ 2

334/

11'-0916/

1

R 1
2/

1

11'-41316/

3

21
2/

A - A

21
2/

p38

3

2 - 1316/ Ø HOLES

316/
316/

178/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B15
11'-4 13/16"W6X20

1
A992

BEAM
1 B15

- SHOP PRIME

p381 PL3/8"X2 1/2"A36 0'-6"
4 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

ONE - BEAM - B15

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B15

BEAMB15 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



3

1

114/ 3 2 - 1316/ Ø HOLES 2 - 1316/ Ø HOLES

B16
W6X20 p38 (F/S)

TYP

A

A
11'-012/5'-8716/RD

3

21
2/

1
1

3

3

R 1
2/

1

21
2/

3

11'-434/

A - A

21
2/

p38

3

2 - 1316/ Ø HOLES

316/
316/

178/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B16
11'-4 3/4"W6X20

1
A992

BEAM
1 B16

- SHOP PRIME

p381 PL3/8"X2 1/2"A36 0'-6"
4 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

ONE - BEAM - B16

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B16

BEAMB16 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



3

21
2/

114/ 3 2 - 1316/ Ø HOLES 2 - 1316/ Ø HOLES

B18
W6X20 p38 (F/S)

TYP

A

A
11'-0916/5'-812/RD

334/

1
1

11'-41316/

3

121
2/

1

3

R 1
2/

212/

A - A

21
2/

p38

3

2 - 1316/ Ø HOLES

316/
316/

178/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B18
11'-4 13/16"W6X20

1
A992

BEAM
1 B18

- SHOP PRIME

p381 PL3/8"X2 1/2"A36 0'-6"
4 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

ONE - BEAM - B18

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B18

BEAMB18 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



14'-912/

p49

AA

B19
W8X18

B

B

31
8/

316/
3 SIDES 
TYP

DET. 1

a9 (B/S)

p71 (B/S)

p122
4 - 1316/ Ø HOLES

R 1 1
2/

316/
3 SIDES 
TYP

15'-212/

5'-7716/RD
4

15'-9716/

61516/

612/

4
11

16/

11
16/

A - A

FLG.
CUT

B19 2- a9

2- p71

4 - 1316/ Ø HOLES

25
8/

612/

T&B CUT

FLG.
CUT

25
16/

13
8/

p122

5 16/

5'-3516/RD

p49

812/

13
8/

612/

518/

11
1 2/

12

512/

B - B

p71

316/
316/

3SIDES
 TYP

p71

DETAIL-1

R 1
2/

1
23

4/

R 1 2/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B19
15'-2 1/2"W8X18

1
A992

BEAM
1 B19

- SHOP PRIME

a92 L4X3X1/4A36 0'-4"
p491 PL3/8"X3"A36 1'-1 3/8"
p712 PL1/4"X2 1/2"A36 0'-7 1/2"
p1221 PL3/8"X3"A36 1'-1 13/16"

4 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

ONE - BEAM - B19

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B19

BEAMB19 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/18/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



512/

2'-3516/

42 - 1316/ Ø HOLES

13'-7716/

p38

B

B 13'-478/

18'-11716/

3

16'-078/

12- p37 (F/S)

B20
W16X40

A

A

TYP

6'-358/

21'-378/

4 - 1316/ Ø HOLES 4 - 1316/ Ø HOLES

10'-758/

8'-2 20'-2716/17'-258/

18'-878/

15'-51316/11'-858/9'-91316/6'-6316/4'-3516/5516/

21'-258/8'-8716/4'-034/2'-034/RD

512/ 512/ 512/ 512/ 512/
512/

33

3
33

3

3
3

3
3

112/

p37

A - A

316/
316/

3 SIDES

111116/ 21
2/

B - B

178/

2 - 1316/ Ø HOLES

p38

316/
316/

3

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B20
21'-3 7/8"W16X40

1
A992

BEAM
1 B20

- SHOP PRIME

p3712 PL3/8"X11 1/2"A36 1'-3 1/2"
p381 PL3/8"X2 1/2"A36 0'-6"

8 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

ONE - BEAM - B20

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B20

BEAMB20 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/20/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



p38 (N/S)

1'-718/RD

14'-114/

p43 (F/S)

C

C

512/

p38 (N/S)

14'-314/

B22
W12X30

B

B

3 - 1316/ Ø HOLES512/

16'-618/

16'-738/

24 - 1316/ Ø HOLES

p38 (F/S)

p75 (B/S)

p40 (N/S)

A

A

512/

D

D

TYP

512/

p38 (N/S) p38 (N/S)

5'-714/

3916/

11'-21116/8'-514/4'-02'-914/

11'-438/8'-838/

3

5'-1118/

3
3

3
3

3

A - A

316/
316/

3 SIDES
TYP

p75 p75

B - B

21
2/

316/
316/2 - 1316/ Ø HOLES

p38

178/3

3

p43

D - D

3 - 1316/ Ø HOLES

178/

316/
316/

3
3

238/

C - C

p40
2 - 1316/ Ø HOLES

3

316/
316/

21
2/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B22
16'-7 3/8"W12X30

1
A992

BEAM
1 B22

- SHOP PRIME

p385 PL3/8"X2 1/2"A36 0'-6"
p401 PL3/8"X2 1/2"A36 0'-6 1/2"
p431 PL3/8"X3"A36 0'-8 1/2"
p752 PL1/4"X3 1/8"A36 0'-11 1/2"

3 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

ONE - BEAM - B22

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B22

BEAMB22 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



p38 (F/S)
1

178/

2 - 1316/ Ø HOLES

B24
W6X9

2 - 1316/ Ø HOLES

TYP

A

A

4'-234/

3114/

178/

3'-1012/2'-112/RD

1

3

21
2/

21
2/

R 1
2/

A - A

2 - 1316/ Ø HOLES

178/

p38

316/
316/

3

21
2/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B24
4'-2 3/4"W6X9

1
A992

BEAM
1 B24

- SHOP PRIME

p381 PL3/8"X2 1/2"A36 0'-6"
4 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

ONE - BEAM - B24

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B24

BEAMB24 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



B

B

B29
W12X22

a29 (B/S)

A

A

p74 (B/S)
14/

12/
RETURNS

TYP

312/

22'-21516/

14/

1

R 1 2/

12/22'-2716/

p74

A - A

p74

316/
3 SIDES
TYP

3

a29

6 - 1316/ Ø HOLES

B - B
3

a29

3

234/ 234/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B29
22'-2 1/2"W12X22

1
A992

BEAM
1 B29

- SHOP PRIME

a292 L4X3-1/2X3/8A36 0'-8 1/2"
p742 PL1/4"X1 7/8"A36 0'-11 3/8"

6 3/4"Ø A325N BOLT 0'-2" FIELD BOLT-

ONE - BEAM - B29

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B29

BEAMB29 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



14/

12/
RETURNS
TYP

14/

a30 (B/S)

B30
W12X22

A

A

a30 (B/S)5- p38 (F/S)

DET. 1
TYP

12'-9316/

TYP

1'-5316/RD

B

B

TYP

15'-318/

9'-101116/7'-1316/4'-3316/

14/

3

A - A
a30a30

6 - 1316/ Ø HOLES

22

3
3

112/

DETAIL - 1

7 16/

118/
14/

114/

3 4/

118/

114/

14/

14/

112/

14/

3 4/
7 16/

R 3 8/

R 3
8/

2 - 1316/ Ø HOLES

B - B

21
2/

178/ 3

316/
316/

p38

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B30
15'-3 1/8"W12X22

1
A992

BEAM
1 B30

- SHOP PRIMEMC

a304 L4X3-1/2X3/8A36 0'-8 1/2"
p385 PL3/8"X2 1/2"A36 0'-6"

12 3/4"Ø A325N BOLT 0'-2" FIELD BOLT-

ONE - BEAM - B30

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B30

BEAMB30 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



21'-1058/

B33
W12X22

314/R 1
2/

A

A

TYP

a29 (B/S)

TYP

1

21'-11916/

a29 (B/S)

14/

12/
RETURNS
TYP

314/

312/

11

12/12/

a29

A - A
a29

6 - 1316/ Ø HOLES

234/234/

3
3

3

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B33
21'-10 9/16"W12X22

2
A992

BEAMS
2 B33

- SHOP PRIME

a298 L4X3-1/2X3/8A36 0'-8 1/2"
12 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-
12 3/4"Ø A325N BOLT 0'-2" FIELD BOLT-

2 - BEAMS - B33

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B33

BEAMB33 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



B34
W12X22

A

A

312/314/

1

TYP

14/

12/
RETURNS
TYP

a29 (B/S)

a29 (B/S)

1

21'-10916/

p38 (F/S)

TYP
314/

p38 (F/S)

B

B

TYP

21'-11916/

12/12/

1

R 1 2/

14'-81516/RD

1'-1916/

A - A

6 - 1316/ Ø HOLES

a29a29

234/234/

3
3

3

316/
316/ p38

B - B

2 - 1316/ Ø HOLES

178/ 3

21
2/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B34
21'-10 9/16"W12X22

1
A992

BEAM
1 B34

- SHOP PRIME

a294 L4X3-1/2X3/8A36 0'-8 1/2"
p382 PL3/8"X2 1/2"A36 0'-6"

6 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-
6 3/4"Ø A325N BOLT 0'-2" FIELD BOLT-

ONE - BEAM - B34

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B34

BEAMB34 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



21'-4

a30 (B/S)
B36
W12X22

TYPA

A

14/

12/
RETURNS
TYP

DET. 1
TYP

a30 (B/S)

14/ 14/

A - A

a30

6 - 1316/ Ø HOLES
3

a30

22

3
3

DETAIL-1

118/

R 3 8/

14/

7 16/

114/

114/

14/

3 4/

112/

7 16/ 14/

3 4/

118/
112/

14/
R 3

8/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B36
21'-4"W12X22

1
A992

BEAM
1 B36

- SHOP PRIMEMC

a304 L4X3-1/2X3/8A36 0'-8 1/2"
12 3/4"Ø A325N BOLT 0'-2" FIELD BOLT-

ONE - BEAM - B36

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B36

BEAMB36 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



8'-558/

2 - 1316/ Ø HOLES

3 4/

B38
W6X9

21
2/

TYP

2 - 1316/ Ø HOLES3114/
3

2

258/

8'-138/RD

21
2/

1

178/

1

R 1 2/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B38
8'-5 5/8"W6X9

1
A992

BEAM
1 B38

- SHOP PRIME

4 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

ONE - BEAM - B38

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B38

BEAMB38 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



21
2/

3 4/

2 - 1316/ Ø HOLES

TYP

2 - 1316/ Ø HOLES 3 4/

B40
W8X10

4'-61316/

11516/

11516/
114/

4'-5916/RD

11516/

11516/

21
2/

33
3 4/

3 4/

R 1 2/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B40
4'-6 13/16"W8X10

22
A992

BEAMS
22 B40

- SHOP PRIME

88 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

22 - BEAMS - B40

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B40

BEAMB40 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



p78 (B/S)

B41
W12X14

12/

19'-034/RD
18'-812/

19'-512/

p95

3

3 - 1316/ Ø HOLES IN BEAM
BOLT TO SHIP

p114

A

A

116/

12

19'-5

112/

116/

31
4/ 116/

3

A - A

p78p78

316/ 2"@12

p114
2"@12

316/
316/

TYP

82

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B41
19'-5"W12X14

1
A992

BEAM
1 B41

- SHOP PRIME

p782 PL1/4"X1 3/4"A36 0'-11 3/8"
p951 PL3/8"X3 1/2"A36 0'-8 1/2"
p1141 PL1/4"X10"A36 18'-8 1/2"

3 3/4"Ø A325N BOLT 0'-1 3/4"-

ONE - BEAM - B41

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B41

BEAMB41 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/20/2021MVK NSP



56'-612/

512/

716/

63'-758/

a31 (B/S)

B43
W24X84

63'-634/

512/

14/

12/
RETURNS

TYP

A

A

a31 (B/S)

3

TYP

11'-612/ 48'-312/

512/

AA

32 - 1316/ Ø HOLES

51'-612/

512/

3

512/
512/

8'-314/RD

512/ 512/

60'-1716/

716/

20'-1316/16'-612/

A - A

3

B43
W24X84

a31

a31

12 - 1316/ Ø HOLES

6 - 1316/ Ø HOLES

6 - 1316/ Ø HOLES

22

4

234/

512/

a31

A - A

3

2

a31

12 - 1316/ Ø HOLES

2

3
3

3
3

3

3

23
4/

2- a31

112/
B43

6 - 1316/ Ø HOLES
2- a31

6 - 1316/ Ø HOLES

3

23
4/

23
4/

62'-1114/RD

33

23
4/

A - A

3
B43

2- a31

6 - 1316/ Ø HOLES

2- a31

112/

6 - 1316/ Ø HOLES

23
4/

33

23
4/

23
4/

62'-1114/RD

3

23
4/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B43
63'-6 3/4"W24X84

1
A992

BEAM
1 B43

- SHOP PRIMEMC

a314 L4X3-1/2X3/8A36 1'-5 1/2"
24 3/4"Ø A325N BOLT 0'-2 1/4" FIELD BOLT-
24 3/4"Ø A325N BOLT 0'-3" FIELD BOLT-

ONE - BEAM - B43

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B43

BEAMB43 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/20/2021MVK NSP



p77 (B/S)

3

B44
W18X35

51316/

4 - 1316/ Ø HOLES

A

A

27'-1134/

27'-1012/RD

3
3

3

A - A

316/
316/

3 SIDES TYP

p77 p77

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B44
27'-11 3/4"W18X35

1
A992

BEAM
1 B44

- SHOP PRIME

p772 PL1/4"X2 3/4"A36 1'-4 7/8"
4 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

ONE - BEAM - B44

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B44

BEAMB44 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/20/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



27'-3

p39 (N/S)

TYP

31
4/

6 - 1316/ Ø HOLES p73 (B/S)

B45
W16X26 p113

B

B

p112

p73 (F/S)

p39 (N/S)
512/ p39 (N/S)

16'-1716/

8 - 1316/ Ø HOLES

3

A

A

3

TYP
714/

31
4/

26'-101116/21'-9716/

978/

10'-5716/4'-1058/RD

512/

612/
p113
20'-612/

3
3

3

2 - 1316/ Ø HOLES

A - A

p112

316/ 2"@12
316/ 2"@12

2

316/
316/p39

29
16/

3
178/

8

B - B

316/
316/

3 SIDES TYP

p73 p73

Te
kl

a 
st

ru
ct

ur
es

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B45
27'-3"W16X26

1
A992

BEAM
1 B45

- SHOP PRIME

p393 PL3/8"X3"A36 0'-5 1/2"
p733 PL1/4"X2 5/8"A36 1'-3"
p1121 PL1/4"X10"A36 20'-0"
p1131 PL1/4"X10"A36 6'-0"

ONE - BEAM - B45

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B45

BEAMB45 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/20/2021MVK NSP



A - A

316/
316/

3 SIDES
TYP

p69p69

116/

12

2 - 1316/ Ø HOLES

B46
W8X10

R 1 2/

A

A

p69 (B/S)

238/

116/
21116/

10'-111316/

10'-10916/RD

29
16/

7 8/
3

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B46
10'-11 13/16"W8X10

3
A992

BEAMS
3 B46

- SHOP PRIME

p696 PL1/4"X1 15/16"A36 0'-7 1/2"
6 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

3 - BEAMS - B46

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B46

BEAMB46 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSP



4

A - A

316/ 2"@12
316/ 2"@12

6

p30

4 - 1316/ Ø HOLES

24'-758/

CUT

3

512/

31
4/

4 - 1316/ Ø HOLES IN BEAM
BOLT TO SHIP

6 - 1316/ Ø HOLES

B47
W16X26 p62

116/

12

p101

3

51
2/

A

A4'-878/RD

TYP

25'-238/

11'-434/

538/

18/

24'-9

114/

18/

3
3

3 3

3

3
31

4/

116/116/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B47
24'-9"W16X26

1
A992

BEAM
1 B47

- SHOP PRIME

p301 PL3/8"X7 13/16"A36 2'-0 5/16"
p621 PL1/4"X10"A36 20'-0"
p1011 PL1/4"X10"A36 4'-8 7/8"

4 3/4"Ø A325N BOLT 0'-1 3/4"-
4 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

ONE - BEAM - B47

Te
kl

a 
st

ru
ct

ur
es REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B47

BEAMB47 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSP



3

p62
B48
W14X22

116/

12

p65

3 - 1316/ Ø HOLES

20'-0RD

3 - 1316/ Ø HOLES
A

A

3

116/

12

TYP

3

24'-358/

18/

23
4/

116/

31
4/

24'-214/

1516/

116/

3

18/

6

A - A

316/ 2"@12
316/ 2"@12

4

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B48
24'-3 5/8"W14X22

1
A992

BEAM
1 B48

- SHOP PRIME

p621 PL1/4"X10"A36 20'-0"
p651 PL1/4"X10"A36 4'-3 1/2"

6 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

ONE - BEAM - B48

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B48

BEAMB48 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/20/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



12/

a29 (B/S)a29 (B/S)
B49
W14X22

20'-1158/

14/

12/
RETURNS
TYP

TYP

TYP

A

A

212/

11
2/

11
2/

212/

12/

21'-058/

R 1 2/

A - A

234/
3

a29a29

3

6 - 1316/ Ø HOLES

234/
3

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

B49
20'-11 5/8"W14X22

1
A992

BEAM
1 B49

- SHOP PRIME

a294 L4X3-1/2X3/8A36 0'-8 1/2"
12 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

ONE - BEAM - B49

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

B49

BEAMB49 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



bp9

p82

BB

AA

14/

C
1

W
es

t
H

SS
6X

6X
3 1

6/

9'
-8

3 8/

1 2/
9'

-7
1 8/

3 4/

4 - 1 116/ Ø HOLES

A - A

14/

bp9

51'
-2

5

2552

2
2

1'-2

13
8/

114/

B - B

4 - 1316/ Ø HOLESp82

13
8/

414/414/114/

11

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

C1
9'-7 1/8"HSS6X6X3/16

2
A500-GR.C

COLUMNS
2 C1

- SHOP PRIME

bp92 PL3/4"X14"A36 1'-2"
p822 PL1/2"X7 1/2"A36 0'-11"

8 3/4"Ø A325N BOLT 0'-2" FIELD BOLT-

2 - COLUMNS - C1

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C1

COLUMNC1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



bp2

C
10

So
ut

h
H

SS
6X

6X
1 4/

1 2/

p105

434/ DD
p107
CTR'D

CC

BB

A

A

6 - 1316/ Ø HOLES

18
'-1

1 2/

3

18
'-0

1 4/

3
6 - 1316/ Ø HOLES

p123

3 4/

434/

3

12
'-1

5 8/
R

D
17

'-3
3 4/

3

55

512/

B - B

4 - 78/ Ø HOLES

1'-2

bp2

14/

112/ 512/ 112/

31
2/

31
2/

C - C

1 8/

516/
516/

TYP

p123

A - A

C
10

bp2

p107

91
8/

TH
R

'U
 S

LO
T

p105
18/

THR'U SLOT17
'-2

1 2/

18/

THR'U SLOT

716/

p123

12
'-0

1 16/
R

D

89
16/

TH
R

'U
 S

LO
T

12/116/

D - D

1 8/

p105
516/
516/

TYP

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

C10
18'-0 1/4"HSS6X6X1/4

1
A500-GR.C

COLUMN
1 C10

- SHOP PRIME

bp21 PL3/4"X10"A36 1'-2"
p1051 PL3/8"X8 1/2"A36 1'-0"
p1071 PL1/2"X5 3/4"A36 0'-5 3/4"
p1231 PL3/8"X9"A36 1'-1"

4 3/4"Ø HILTI-HAS-E BOLT 1'-0" FIELD BOLT-

ONE - COLUMN - C10

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C10

COLUMNC10 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



DD

p11 (B/S)

bp1

p125

p11 (B/S)

18
'-1

1 2/

CC

11
'-6

5 16/

B

B

TYP

p11 (B/S)

A

A

p11 (B/S)

14/
3 SIDES TYP

3 8/
C

12
So

ut
h

W
8X

31

18
'-0

3 4/ p125

3 4/

17
'-0

5 8/

11
3 4/

12
'-1

01
1 16/

1'
-3

3 8/
11

'-6
7 8/

C - C

4 - 78/ Ø HOLESbp1

31
2/

14/

1'-4

31
2/

112/612/612/112/

D - D

p11

14/
14/

3 SIDES TYP

p11p125

4 - 1316/ Ø HOLES

14/
14/

13
4/

2

13
4/

3

A - A

p11

C
12

3

p11

p11

6 - 1316/ Ø HOLES

p11

bp1

12
'-1

5 8/
R

D

6 - 1316/ Ø HOLES

p11

p11 p11

234/

p11

17
'-3

3 4/

234/

234/234/

3
3

3

p11

B - B

3

p11

234/

234/

p11

C
12

8 - 1316/ Ø HOLES

3

234/

234/

bp1

3 6 - 1316/ Ø HOLES

p11

p11p11

3

p11

p11

p125

p125

17
'-3

3 4/
11

'-1
05

8/
R

D

3

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

C12
18'-0 3/4"W8X31

1
A992

COLUMN
1 C12

- SHOP PRIME

bp11 PL3/4"X10"A36 1'-4"
p118 PL3/8"X3 13/16"A36 0'-7 1/8"
p1252 PL1/2"X6 1/2"A36 0'-6 1/2"

4 3/4"Ø HILTI-HAS-E BOLT 1'-0" FIELD BOLT-

ONE - COLUMN - C12

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C12

COLUMNC12 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



C
13

So
ut

h
W

8X
31

18/

14/
14/

3 SIDES TYP

18
'-0

3 4/

bp3

11
3 4/

A

A

TYP
DD

17
'-0

5 8/

14/
3 SIDES TYP

CC

p11 (B/S)

p11 (B/S)

p11 (B/S)

p29 (F/S)

p11 (B/S)

B

B

p125

p125

18
'-1

1 2/

3 4/

1'
-3

1 2/

11
'-6

3 4/

3 8/

11
'-6

3 16/

12
'-1

01
1 16/

312/

C - C

4 - 78/ Ø HOLES

14/

bp3

1'-2

312/4112/

11
2/

4
31

2/
31

2/

3

p11

B - B

234/

234/

17
'-3

3 4/

234/

3

p11

p11

534/

8 - 1316/ Ø HOLES

C
13

bp3

6 - 1316/ Ø HOLES

3

p11

p29

234/

4 - 1316/ Ø HOLES

p11

p11

p11

p11

11
'-1

05
8/

12
'-0

13
16/

R
D

3
3

3

3
3

D - D

p11

14/
14/

3 SIDES TYP

p29

p11 p125
4 - 1316/ Ø HOLES

14/
14/

18/

13
4/

13
4/

32

3

234/

6 - 1316/ Ø HOLES

A - A

11
'-1

05
8/

R
D

p11

p11

C
13

3

3

p11

p11

8 - 1316/ Ø HOLES

bp3

p125

p11

p11

3

234/

p29

4 - 1316/ Ø HOLES

p11

234/

p11
p125

534/

234/

17
'-3

3 4/

12
'-0

13
16/

3
3

3
3

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

C13
18'-0 3/4"W8X31

1
A992

COLUMN
1 C13

- SHOP PRIME

bp31 PL3/4"X14"A36 1'-2"
p118 PL3/8"X3 13/16"A36 0'-7 1/8"
p291 PL3/8"X6 7/8"A36 1'-3 15/16"
p1252 PL1/2"X6 1/2"A36 0'-6 1/2"

4 3/4"Ø HILTI-HAS-E BOLT 1'-0" FIELD BOLT-

ONE - COLUMN - C13

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C13

COLUMNC13 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



3 - 1316/ Ø HOLES

BB

10
'-0

3 4/

3
4 - 1316/ Ø HOLES

DD

bp9

18
'-1

13
8/

18/

CC

C
14

So
ut

h
H

SS
6X

6X
1 4/

bpl18

p39

bpl15

19
'-9

1 8/

p96

p39

3

19
'-7

7 8/

p106

p107
CTR'D

A

A

3 4/

EE

1 2/

312/

18/

11
'-0

3 4/
R

D

3

434/

3

412/

5

3

B - B

2

4 - 1 116/ Ø HOLES

1'-2

1'
-2

2

bp9

14/

5 5

2
5

5
2

E - E

516/
516/

p39
p106

516/
516/

TYP

1 8/

18/

C - C

p124

p39 516/
516/

516/
516/

TYP

18/

1 8/

10
'-7

1 4/
R

D

bpl18

A - A

p39

p96

9'
-1

13
16/

1 4/

bpl15

bp9

p106

C
14

p107

2 - 1316/ Ø HOLES

2 - 1316/ Ø HOLES

THR'U SLOT

18/

p39

116/
THR'U SLOT

p124

3

434/
1'-018/

3

23
4/

19
'-3

18/

434/

18
'-1

01
8/

11
'-0

3 4/

89
16/

TH
R

'U
 S

LO
T

716/

12/

1'
-0

1 8/
TH

R
'U

 S
LO

T

D - D

316/
316/

p96 bpl18

bpl15

316/

1'
-0

1 8/

3412/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

C14
19'-7 7/8"HSS6X6X1/4

1
A500-GR.C

COLUMN
1 C14

- SHOP PRIME

bp91 PL3/4"X14"A36 1'-2"
bpl151 PL1/4"X4 1/16"A36 1'-3 1/8"
bpl181 PL1/4"X6"A36 0'-11 11/16"
p392 PL3/8"X3"A36 0'-5 1/2"
p961 PL1/4"X1 1/4"A36 0'-2 3/4"
p1061 PL3/8"X8 1/2"A36 0'-9 1/2"
p1071 PL1/2"X5 3/4"A36 0'-5 3/4"
p1241 PL3/8"X10"A36 1'-0"

ONE - COLUMN - C14

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C14

COLUMNC14 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/20/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



11
7 8/

p103 (F/S)
3 4/

bp5

TYP

316/

DD19
'-8

11
16/

CC

14/
14/

3 SIDES TYP

EE

11
1 2/

p12 (B/S)

p12 (B/S)

p12 (B/S)

p108 (F/S)

p12 (B/S)

p24 (F/S)

A

A

14/
14/

3 SIDES TYP

C
15

W
es

t
W

8X
24

18
'-8

1 16/

19
'-7

15
16/

3 8/

9'
-8

1 4/ 33
4/

18/

C - C

4 - 1 116/ Ø HOLES

14/

2

bp5

1'-4

1'
-0

2662

4
4

2

E - E

14/
14/

3 SIDES TYP p12

p12
p108316/

D - D

p103

p108
14/
14/

3 SIDES

316/

A - A

3

p12

p12

p12

p12

2

2

bp5

3

3

10
'-0

1 4/
R

D

3
3

2

6 - 1316/ Ø HOLES

C
15

3

p103

4 - 1316/ Ø HOLES

p108

6 - 1316/ Ø HOLES

p24

3 - 1316/ Ø HOLES

p12p12

p1218
'-1

07
8/

p12

3

18
'-1

01
5 16/

10
'-3

1 4/

2

5

5

3

3

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

C15
19'-7 15/16"W8X24

1
A992

COLUMN
1 C15

- SHOP PRIME

bp51 PL3/4"X12"A36 1'-4"
p128 PL3/8"X3 1/8"A36 0'-7 1/8"
p241 PL3/8"X6 1/8"A36 0'-11 1/8"
p1031 PL3/8"X3 1/8"A36 0'-7 1/8"
p1081 PL3/8"X6 1/8"A36 1'-3 1/4"

ONE - COLUMN - C15

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C15

COLUMNC15 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/20/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



bp5

TYP

CC

C
17

W
es

t
W

8X
24

18/

2 - 1316/ Ø HOLES

A

A

BB

12 1 4/

p12 (B/S)

p39
2 - 1316/ Ø HOLES

p38

p23

3

DD

p12 (B/S)

C
U

T

p12 (B/S)

11
1 2/

14/
14/

3 SIDES 
TYP

TYP

p12 (B/S)

20
'-2

1 4/

19
'-1

1 2/

20
'-1

1 2/

10
'-0

R
D

19
'-8

1 16/

3 4/

3

3 16/

134/

10
'-9

3 4/

134/

11
7 8/

bp5

B - B

4 - 1 116/ Ø HOLES

14/

2
4

4
2

1'-4

1'
-0

6 262

C - C

14/
14/

3 SIDES TYP

p23

p12

p12

p38

14/
14/

7 16/

18/

A - A

6 - 1316/ Ø HOLES

10
'-3

1 4/
R

D

p12

3

5

bp5

p12

3

p12

p12

C
17

p23

6 - 1316/ Ø HOLES 3 - 1316/ Ø HOLES

2
p12

p12

p12

3

p12

10
'-3

1 4/

19
'-4

3 8/

2

3

2

3
2

3

D - D

14/
14/

p39
p12

p12

1 8/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

C17
20'-1 1/2"W8X24

1
A992

COLUMN
1 C17

- SHOP PRIME

bp51 PL3/4"X12"A36 1'-4"
p128 PL3/8"X3 1/8"A36 0'-7 1/8"
p231 PL3/8"X6 1/8"A36 0'-11 1/2"
p381 PL3/8"X2 1/2"A36 0'-6"
p391 PL3/8"X3"A36 0'-5 1/2"

ONE - COLUMN - C17

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C17

COLUMNC17 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



p55 (F/S)

716/

TYP

14/
3 SIDES TYP

19
'-3

3 4/

20
'-3

5 8/

A

A
bp5

10
'-0

CC

p12 (B/S)

DD

14/
14/

3 SIDES TYP

20
'-4

3 8/

C
19

So
ut

h
W

8X
24

p38 (F/S)

p12 (B/S)

p12 (B/S)

p12 (B/S)
18/

3 4/

11
7 8/

3 8/
11

1 2/

4 - 1 116/ Ø HOLES

C - C

bp5

2

1'
-0

14/

2
4

4
2

266

1'-4

D - D

p12

p12
14/
14/

3 SIDES

716/ p38

2 - 1316/ Ø HOLES

A - A

p12p12

2 - 1316/ Ø HOLES
3

10
'-3

1 4/

p12

6 - 1316/ Ø HOLES

bp5

C
19

p38

p55

3

6 - 1316/ Ø HOLES

p12

3
3

3

p12

p12

p12

p12

3

19
'-1

0

19
'-6

5 8/

10
'-9

3 4/
R

D

178/

22

5116/

22

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

C19
20'-3 5/8"W8X24

1
A992

COLUMN
1 C19

- SHOP PRIME

bp51 PL3/4"X12"A36 1'-4"
p128 PL3/8"X3 1/8"A36 0'-7 1/8"
p381 PL3/8"X2 1/2"A36 0'-6"
p551 PL3/8"X6 3/16"A36 0'-11 1/16"

ONE - COLUMN - C19

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C19

COLUMNC19 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/20/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



18
'-0

1 4/

p105

bp2

p107
CTR'D

CC

3

BB

A

A

6 - 1316/ Ø HOLES

DD

C
26

So
ut

h
H

SS
6X

6X
1 4/

7 - 1316/ Ø HOLES

p21

18
'-1

1 2/

1 2/

17
'-3

3 4/

3 4/

434/ 434/

3
3

3
3

55

11
'-1

05
8/

R
D

B - B

14/

4 - 78/ Ø HOLES

1'-2

bp2

112/ 512/ 512/

31
2/

112/

31
2/

C - C

p21

1 8/

A - A
bp2

THR'U SLOT
716/

C
26

89
16/

TH
R

'U
 S

LO
T

p105
18/

p107

18/

THR'U SLOT

p21

116/

17
'-2

1 2/
11

'-9
1 16/

R
D

1'
-0

1 8/
TH

R
'U

 S
LO

T

12/

D - D

1 8/

p105
516/
516/

TYP

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

C26
18'-0 1/4"HSS6X6X1/4

1
A500-GR.C

COLUMN
1 C26

- SHOP PRIME

bp21 PL3/4"X10"A36 1'-2"
p211 PL3/8"X12"A36 1'-1"
p1051 PL3/8"X8 1/2"A36 1'-0"
p1071 PL1/2"X5 3/4"A36 0'-5 3/4"

4 3/4"Ø HILTI-HAS-E BOLT 1'-0" FIELD BOLT-

ONE - COLUMN - C26

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C26

COLUMNC26 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



3 4/

4 - 1316/ Ø HOLES

bp4

A

A

CC

BB

p4
CTR'D

p43

3

12
'-1

11
3 16/

p44

C
8

So
ut

h
H

SS
4X

4X
1 4/

334/

1 2/
12

'-1
09

16/

3
3

11
'-8

9 16/
R

D

18/

bp4

B - B

4 - 78/ Ø HOLES

14/

5

2

112/

11
2/

11
2/

2
5

112/22

1'-0

1'
-0

C - C

p44
516/
516/

TYP

p43

516/
516/

18/

3 16/

A - A

p4

18/

11
9 16/

TH
R

'U
 S

LO
T

bp4

3 - 1316/ Ø HOLES

C
8

716/

p44

p43

THR'U SLOT

18/
334/

3
3

12
'-1

13
16/

R
D

11
'-7

5 16/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

C8
12'-10 9/16"HSS4X4X1/4

1
A500-GR.C

COLUMN
1 C8

- SHOP PRIME

bp41 PL3/4"X12"A36 1'-0"
p41 PL1/2"X3 3/4"A36 0'-3 3/4"
p431 PL3/8"X3"A36 0'-8 1/2"
p441 PL3/8"X7 1/2"A36 0'-11 1/2"

4 3/4"Ø HILTI-HAS-E BOLT 1'-0" FIELD BOLT-

ONE - COLUMN - C8

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C8

COLUMNC8 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



bp4

C
9

So
ut

h
H

SS
4X

4X
1 4/

AA

p41
BB

14/

11
'-8

1 2/

1 2/
11

'-7
1 4/

3 4/

2

14/

A - A

11
2/bp4

1'
-0

1'-0

5

4 - 78/ Ø HOLES

2
2

11
2/

112/52112/

114/ 114/

B - B

p41 4 - 1316/ Ø HOLES

11
2/

11
2/

44

1012/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

C9
11'-7 1/4"HSS4X4X1/4

1
A500-GR.C

COLUMN
1 C9

- SHOP PRIME

bp41 PL3/4"X12"A36 1'-0"
p411 PL1/2"X6"A36 0'-10 1/2"

4 3/4"Ø A325N BOLT 0'-2" FIELD BOLT-
4 3/4"Ø HILTI-HAS-E BOLT 1'-0" FIELD BOLT-

ONE - COLUMN - C9

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

C9

COLUMNC9 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/19/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



33
4/

1 4/

FR1
L4X4X14/

312/312/

4'-11316/
33

4/

1 4/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

FR1
4'-1 13/16"L4X4X1/4

2
A36

RTU ANGLES
2 FR1

- NO PAINT

2 - RTU ANGLES - FR1

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

FR1

RTU ANGLEFR1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

06/16/202103/23/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



1'-0516/

A - A

FR2

a99

a99

2'-2

316/
TYP

71116/

312/

1 4/
33

4/

1 4/
33

4/

312/

A A

a9
9

3'-10

a9
9

a90

C

C

1'-0516/

FR2
L4X4X14/

a100

C

C

AA
OPP.

B B

TYP

TYP

71116/

OPP.

4
7'

-3
4

7'
-1

1

2'-2

1'
-6

5'
-9

316/
TYP

316/
TYP

C - C

a99 a100

FR2
a90

47'-34

B - B

a99

a100

a99

316/
TYP

312/2'-2312/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

FR2
3'-10"L4X4X1/4

1
A36

RTU FRAME
1 FR2

- NO PAINT

a901 L4X4X1/4A36 3'-10"
a992 L3-1/2X3-1/2X1/4A36 7'-3"
a1001 L3-1/2X3-1/2X1/4A36 2'-2"

ONE - RTU FRAME - FR2

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

FR2

RTU FRAMEFR2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

06/16/202103/22/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



A - A

FR3 a99

316/
TYP

a99

71516/1'-710316/

312/

1 4/
33

4/

312/

1 4/
33

4/

a9
9

FR3
L4X4X14/

a9
9

C

C

AA

C

C

A A

B B

4

TYP

a72

TYP

a101

OPP.

OPP.

3'-118/

71516/

7'
-3

4

10316/ 1'-7

7'
-1

1

1'
-0

6'
-3

FR3

C - C

a99

316/
TYP

316/
TYP

a72

a101

47'-34

B - B

a99a99 a101

316/
TYP

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

FR3
3'-1 1/8"L4X4X1/4

1
A36

RTU FRAME
1 FR3

- NO PAINT

a721 L4X4X1/4A36 3'-1 1/8"
a992 L3-1/2X3-1/2X1/4A36 7'-3"
a1011 L3-1/2X3-1/2X1/4A36 1'-7"

ONE - RTU FRAME - FR3

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

FR3

RTU FRAMEFR3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

NO PAINT

06/16/202103/22/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



LB1
W8X15

p94

( 3 ) 34/ Ø X 0'-4
( A108 )

B

B

p69 (B/S) p69 (B/S)

A

A 4'-4

TYP

TYP

3'-312/814/

4'-8

4

378/

2'-4RD

3516/

B - B

p94

3516/

316/ 2"@12
316/ 2"@12

A - A

p69 p69
316/
316/

3 SIDES TYP

22

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

LB1
4'-8"W8X15

1
A992

LINTEL BEAM
1 LB1

- GALVANIZED

p694 PL1/4"X1 7/8"A36 0'-7 1/2"
p941 PL5/16"X6 5/8"A36 3'-3 1/2"

3 STUD 3/4" DIA 0'-4"A108

ONE - LINTEL BEAM - LB1

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

LB1

LINTEL BEAMLB1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

GALVANIZED

06/16/202103/22/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



A

A

p86

TYP

2'-8RD

B

B
7'-378/

( 4 ) 34/ Ø X 0'-4
( A108 )

TYP

7'-2
5

p69 (B/S)
p69 (B/S)

TYP

378/

7'-8

6'-312/814/

4'-11

p69

A - A

316/
316/

3 SIDES TYP

p69

B - B

3516/

316/ 2"@12
316/ 2"@12p86

3516/

22

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

LB2
7'-8"W8X15

1
A992

LINTEL BEAM
1 LB2

- GALVANIZED

p694 PL1/4"X1 7/8"A36 0'-7 1/2"
p861 PL5/16"X6 5/8"A36 6'-3 1/2"

4 STUD 3/4" DIA 0'-4"A108

ONE - LINTEL BEAM - LB2

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

LB2

LINTEL BEAMLB2 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

GALVANIZED

06/16/202103/20/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



2 - 1316/ Ø HOLES
p85

LB3
W8X15

11'-678/

TYP

2 - 1316/ Ø HOLES

A

A
3

( 5 ) 34/ Ø X 0'-4
( A108 )

10'-712/

TYP

114/

21
2/

11'-558/

5'-9716/

634/

21
2/

3

11'-1716/8'-5716/3'-1716/RD

5716/

A - A

2

p85
316/ 2"@12
316/ 2"@12

3516/ 3516/

2

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

LB3
11'-6 7/8"W8X15

1
A992

LINTEL BEAM
1 LB3

- GALVANIZED

p851 PL5/16"X6 5/8"A36 10'-7 1/2"
4 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-
5 STUD 3/4" DIA 0'-4"A108

ONE - LINTEL BEAM - LB3

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

LB3

LINTEL BEAMLB3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

GALVANIZED

06/16/202103/22/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



A - A

11
4/

2 - 1316/ Ø HOLES

w141

316/

2

23
4/

p66

23
4/

11
4/

8

2

4

TB1HSS3- 1
2/ X3- 1

2/ X 1
4/

w141

p66

w
10

0
p10

TYP

316/

A

A

13
4/

3'
-6

1 2/
11

5 8/
3 8/

4'
-8

1 4/

4'-318/

134/3'-612/658/14/

12

5

5

12

5'-0 1
8/

12

12

p66 TB1
p10

3

w100

w141

3

33

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

TB1
5'-1 9/16"HSS3-1/2X3-1/2X1/4

19
A500-GR.B

TIE BRACES
19 TB1

- GALVANIZED

p1019 PL3/8"X6"A36 0'-6"
p6619 PL1/4"X4"A36 0'-8"
w10019 HSS3-1/2X3-1/2X1/4A500-GR.B 1'-0 5/16"
w14119 HSS3-1/2X3-1/2X1/4A500-GR.B 0'-7 3/8"

38 3/4"Ø A325N BOLT 0'-1 3/4" FIELD BOLT-

Te
kl

a 
st

ru
ct

ur
es

19 - TIE BRACES - TB1

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

TB1

TIE BRACETB1 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

GALVANIZED

06/16/202103/23/2021MVK NSP



7
p84p83 VB3

HSS5X5X38/

5

12'-9316/

B

B

A

A

13'-218/

2716/2716/

5

7

514/
CUT

41516/
CUT 12

1178/

11
3 8/

12

A - A

4 - 1316/ Ø HOLES

234/ 234/

516/

p83

B - B

4 - 1316/ Ø HOLESp84

516/

134/134/

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

VB3
12'-9 3/16"HSS5X5X3/8

2
A500-GR.C

VERTICAL BRACES
2 VB3

- SHOP PRIME

p832 PL1/2"X8"A36 1'-3"
p842 PL1/2"X7"A36 1'-3"

16 3/4"Ø A325N BOLT 0'-2 1/4" FIELD BOLT-

2 - VERTICAL BRACES - VB3

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

VB3

VERTICAL BRACEVB3 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/20/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es



11
2/

2 - 916/ Ø HOLES IN ANGLE
BOLT TO SHIP

21'-8516/

VB5
L2-12/ X2-12/ X14/

p34

p351 - 916/ Ø HOLE
212/

10'-9916/RD

57
8/

12

11
4/

11
2/

23'-1112/

318/

1'-534/

1021'-101316/1'-21116/

1'-258/

278/

57
8/

12

LINE GRADE SCOPE QTY DESCRIPTION LENGTH MARK REMARK

VB5
21'-10 13/16"L2-1/2X2-1/2X1/4

1
A36

VERTCAL BRACE
1 VB5

- SHOP PRIME

p341 PL3/8"X5 3/8"A36 1'-8 7/8"
p351 PL3/8"X8 1/2"A36 1'-5 9/16"

2 1/2"Ø A307 BOLT 0'-1 1/2"-
1 1/2"Ø A307 BOLT 0'-1 3/4" FIELD BOLT-

ONE - VERTCAL BRACE - VB5

REVISIONS

NO DESCRIPTION DATE

A ISSUED FOR APPROVAL 03/25/2021

B RE-ISSUED FOR APPROVAL 04/30/2021

0 ISSUED FOR FABRICATION 06/16/2021

 ARCH 

JOB 

ITEM 

CONTR 

DWN : 

JOB# 

DATE: CHK'D: 

DWG NO.

BOLT : 3/4" A325N UNO

HOLES : 13/16" UNO

WELD : E-70XX

FINISH : 

VB5

VERTICAL BRACEVB5 -

MATERIAL
W SHAPES = A992
TUBES = A500 (46 KSI)
SHOP PREP PER SPECS

DATE: 

SHOP PRIME

06/16/202103/22/2021MVK NSPTe
kl

a 
st

ru
ct

ur
es




